Contract K-2122-43 Public Transportation On-Board Vehicle Surveillance System Attachment B – Compensation

AngelTrax Bid Division

We Do Video Better Than Anybody Else. Period.

Executive Summary

AngelTrax

Date August 9, 2021

Valid Until November 7, 2021

Quote # ATXQ43343

Customer ID City of Norman

Customer:

City of Norman

Taylor Johnson, Transit & Parking Program Mgr 201 W. Gray Street, Building A

Norman, OK 73069

(405) 217-7761

Quote/Project Description

Video surveillance systems to be installed in 28 vehicles. This includes PRO8CMS for (12 months) and HOSTED SERVER for (12 months) 1 year prepaid. Please see Quote ATXQ43343 for complete pricing and additional optional items.

Item	Qty	Description	Price	Ext. Price
V12HCNVR	28	VULCANV12HC Mobile Network Video Recording System	1033.63	28,941.64
HDD1TB	56	1TB Platter Hard Drive	81.89	4,585.84
SD64GB	28	64GB SD Solid-State Memory Card	12.75	357.00
VULPBH	28	Vulcan Panic Button Housing PC color	0.00	-
IPX4000	56	Vulcan HC Series Anvil 4000 IP 4.0mm Camera	199.31	11,161.36
IPWS4000	28	Vulcan HC Series IPWS4000 IP 4.0mm Windshield Camera	115.88	3,244.64
IPSMB2800	28	Vulcan HC Series Anvil 2800 IP 2.8mm Backing Camera	137.51	3,850.28
IPI2500	82	Vulcan HC Series Anvil 2500 IP 2.5mm Camera	100.43	8,235.26
IPI4000	28	Vulcan HC Series Anvil 4000 IP 4.0mm Camera	100.43	2,812.04
CAT615CBL	56	CAT6 Shielded Camera Cable, 15 ft	5.10	285.60
CAT625CBL	112	CAT6 Shielded Camera Cable, 25 ft	7.41	829.92
CAT650CBL	54	CAT6 Shielded Camera Cable, 50 ft	12.90	696.60
TRIMDANT	28	WIFI/CELL/GPS ANTENNA	34.77	973.56
SI4GM	28	Sierra 4G Wireless Cellular Modem	92.70	2,595.60
VULPWRKEY	3	Security Key USB 3.0 for Vulcan HCMDVRs & V16-35	38.63	115.89
CP4	3	Touchscreen Backing & Firmware Control Monitor	164.55	493.65
CP4-9CBL	3	9M CP4 Extension Cable for MDVRs and HCNVRs	30.90	92.70
MERAKI	3	MR74 Wireless Access Point	2309.78	6,929.34
PRO8CMS-2	1	Pro8CMS Annual Licensing Fee (26-50 Vehicles)	1500.00	1,500.00
HOSTEDSERVER-2	28	Hosted Server (26-50 Vehicles)	72.00	2,016.00
EXTWARRANTY	28	5 YEAR SYSTEM WARRANTY	0.00	-
CONTLABOR	3	Installation of AngelTrax Meraki MR74	1500.00	4,500.00
WIRELESS CONFIG	28	Wireless Setup Configuration / Vehicle	75.00	2,100.00
CONTLABOR	28	Uninstall of Camera System, per system.	50.00	1,400.00
CONTLABOR	28	Installation of AngelTrax Camera System, per system.	650.00	18,200.00
		SPARES		-
HCHDDTRAY	2	Hard Drive Tray for Vulcan Hybrid Component Series	131.33	262.66
HDD1TB	4	1TB Platter Hard Drive	81.89	327.56
IPI2500	1	Vulcan HC Series Anvil 2500 IP 2.5mm Camera	100.43	100.43
IPX4000	1	Vulcan HC Series Anvil 4000 IP 4.0mm Camera	199.31	199.31
IPWS4000	1	Vulcan HC Series IPWS4000 IP 4.0mm Windshield Camera	115.88	115.88
IPSMB2800	1	Vulcan HC Series Anvil 2800 IP 2.8mm Backing Camera	137.51	137.51
IPI4000	1	Vulcan HC Series Anvil 4000 IP 4.0mm Camera	100.43	100.43
				-

Terms and Condition of Sale	Subtotal	\$	107,160.70
Hardware prices are contingent on prepayment of all services plans. Freight FOB client Location. Please see Quote ATXQ43343 for complete pricing.	Discount		-
Location. Flease see Quote ATAQ45343 for complete pricing.	Sales Tax	%	0.00
	Tax	-	-
	Total	\$	107,160.70
Please confirm your acceptance of this quote by signir	ng this document		
Signature Print Name	Date		
Thank you for your busines	s!		
Should you have any inquiries concerning this quote, please cont	act Tina Parker at 334-692	2-4600	

119 South Woodburn Drive, Dothan, Houston, AL, 36305

Tel: 334-692-4600 Fax: 334-692-4606 E-mail: tina.parker@angeltrax.com Web: www.angeltrax.com

AngelTrax Bid Division

We Do Video Better Than Anybody Else. Period.

Executive Summary

Date August 9, 2021

Valid Until November 7, 2021

Quote # ATXQ43343

Customer ID City of Norman

Customer:

City of Norman

Taylor Johnson, Transit & Parking Program Mgr

201 W. Gray Street, Building A

Norman, OK 73069

(405) 217-7761

Quote/Project Description

Optional Passenger Wi-Fi (Hotspot) for 28 vehicles. Please see Quote ATXQ43343 for complete pricing and additional optional items.**City of Norman to provide their own Cellular DataPlan.**

ltem	Qty	Description	Price	Ext. Price
		OPTIONAL PASSENGER WI-FI		-
IBR600LP4	28	3G/4G Verizon Cellular Modem with Wi-Fi	526.89	14,752.92
CONTLABOR	28	Installation of AngelTrax Camera System, per system.	20.00	560.00
				-
				-
				-
				-
				-
				-
				-
				-
				-
				-
				-
				-
				-
				-
				-
				_
				-
				_

			-
Terms and Condition of Sale	Subtotal	\$	15,312.92
Freight FOB client Location. Please see Quote ATXQ43343 for complete pricing. **City of	Discount		-
Norman to provide their own Cellular DataPlan.**	Sales Tax Tax	%	0.00
			-
	Total	\$	15,312.92
Please confirm your acceptance of this quote by signir	ng this document		
Signature Print Name	Date		

Thank you for your business!

Should you have any inquiries concerning this quote, please contact Tina Parker at 334-692-4600

119 South Woodburn Drive, Dothan, Houston, AL, 36305